EEABEIT%A HKT R b 2010/01/29 3 EEER

BRB, ) — b, TOMBLAR HL1 NIXERERGERERC. R1ITNNO 2 ~— S, [3]
ﬁﬁﬁﬁu%ﬁo

[1] koI —FiE, HER\BEOF L FAa LR RL50 IF LORBHESTHS, O~DEHY AL
DEMoTERSE L, |

void if st (blab, clab)
. int blab, clab; .

{
int tlab, flab;

if(tok != SLPAREN) error(" '(' Expected");
tok =scan{):
exp();
flab = get inlabel():;
gen_code (" "TST.W RO™);
gen_ “code (" BEQ L%d",flab);
if (tok != SRPAREN) error(" ')!' Expetted");
tok =scan(); ‘
st (blab, clab):;
if (tok == SELSE) {

tok = scan(),

tlab = get_inlabel();

gen_code (" BRA L%d",®);

gen code ("L%d:",®);

@:;

gen_code ("L%d:",®) ;
} .
else gen_code("L%d:",®);
}
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i=1 ‘ ‘
k=1
s=0
Ll: if i=10 goto L2
t=k+2
s=s+t
i=i+k
goto L1
L2: s=s+10
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void if st(blab, clab)
int blab, clab;

{
int tlab, flab:

if (tok != SLPAREN) error(" '(' Expected");
tok =scan{():
exp();

flab = get_ 1nlabel(),
gen_code (" TST.W RO");
gen_ “code (" BEQ L%d",flab);
if (tok != SRPAREN) error(" ') ' Expected");
tok =scan{():
st (blab, clab):;
if (tok == SELSE) ({
tok = scan():
tlab = get_inlabel();
gen_code (" BRA L3d",®); © JQI&L

gen code ("L%d:" @); g ¥l
gen_'code("L%d:",@); @stl(f(: lab clab)

}
else gen code("L%d:",®); *’QL
} , '

RITEOIHFMa—FICHLTELL, EXTTR<LAPOKXBLMIBICH = L
i=1
k=1
s=0
Ll1: if i=10 goto L2
t=k+2
s=s+t
i=i+k
goto L1l
L2: s=s+10
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